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A boy walks at 4 m/s toward the center of a merry-go-
round rotating clockwise at 5 rpm. Find his acceleration.
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A slider moves at 20 {t/s along a rod rotating about a
pivot at 5 rad/s. Find acceleration 4 ft from the pivot?
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97. The maximum acceleration of a simple pendulum
occurs at the top of a swing. Find this acceleration for a
2 m pendulum with a ppaximum angle of 30°.
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Conservahan of llnewr momentusm approaen

impact
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99. A ball strikes a flat, horizontal surface at 30°. Find
the reflection angle if the coefficient of restitution 1s 0.8.
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98. A 50 kg object moving at 40 m/s strikes a spring (k
= 20kN/m). Determine the maximum deflection.
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A bullet of mass 1 strikes a stationary pendulum of
mass M. Find the bullet velocity v in terms of the
pendulum length L and the maximum angle O.
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8. Find the damping ratio and natural frequency of a
system described by the following equation.

¥ +8y +25y =16sin(Qt)
5:, zzmﬂa v w}':\a = lbsg, NE
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What is the natural frequency of a slender rod of length
L. and mass m that is pinned at one end?
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planar rigid body motion

ZE=ms= 9.2 b MY reiew
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96. A string 1s wrapped around a 50
radius 0.4 m and attached to a 20

g cylinder of
mass. Find the

tension in the string if the cylinder mdtates freely?
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94. Find the angular velocity of link AB if the angles
are both 30°. Both links are 30 ¢m long, and the slider

moves at velocity 20 m/s to the right. L
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